Grade 4 Theme 4 Story 4
“Red Writing Hood”

LA.A.1.2.3 Vocabulary pg. 466
1. Read these sentences from the play.

“GRIMM: Oh, right sorry. (Erases a little more. WOLF discards
tutu and ballet slippers.) “WOLF: Whew! My toes are Kkilling
me.”

What does the word discard mean?

A. to throw away
(correct answer)

B. tothrow up
(incorrect meaning)

C. to throw around
(incorrect meaning)

D. to throw at
(incorrect meaning)

LA.A.2.2.1 Main Idea pg. 462

2. What happens AFTER Goldilocks wears bear ears and comes out
from the tree but BEFORE Cinderella enters?

A. Father Bear, Mother Bear and Baby Bear enter the room.
(events out of order)

B. Red says that she has treats for dear grandmother.
(inferences not supported by text)

C. Cinderella asks if anyone has seen her Prince Charming.
(events out of order)

D. Bo Peep enters crying because she has lost her sheep again.
(correct answer)
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“Red Writing Hood”

LA.A.2.2.2 Author’s Purpose pg.457

3. Why did the author write “Red Writing Hood"?

A.

B.

To entertain readers with a funny play about fairy tales.
(correct meaning)

To show how to change the endings of fairy tales.
(incorrect interpretation)

To persuade readers to write new endings to fairy tales.
(incorrect interpretation)

To tell what happens when the writer runs out of erasers.
(incorrect interpretation)

LA.E.2.2.1 Cause and Effect pg. 461

4. What happens as a result of Red changing Goldilocks into a bear?

A.

B.

Goldilocks begs Red to change her back into a little girl.
(plausible but incorrect)

Goldilocks is chased by all three bears anyway.
(incorrect effect)

Goldilocks has to hide from her parents when they arrive.
(incorrect effect)

Goldilocks is adopted by the bears as one of their cubs.
(correct answer)
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LA.E.1.2.2 Plot Development pg. 464

5.

What problem did Red have when she rewrote the script for Bo Peep?

A.

B.

Bo Peep did not have enough food to feed so many sheep.
(plausible but incorrect)

Bo Peep did not have enough space to keep so many sheep.
(plausible but incorrect)

Bo Peep’s sheep were making her crazy because there were too
many.

(correct answer)

Bo Peep did not have enough tutus and ballet shoes to dress all
her sheep.

(conclusion not appropriate)
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